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Time: 30 Minutes Paper Science 4th (T-6) Total Marks: 25

4th Month, 4th Week, Day 6 Syllabus: Monthly Test

1
(x) Simple machine that consists on grooved wheel and a rope is called:

LdMLer’jwzjlcg/’:d/ﬁm:VJ

Q.No.1 Encircle the correct answer from the following choices. (10x1=10)
- 60(‘5%/’1»/£?1qu)¢4)&}“ 30

(i) The biggest source of energy is: :‘4,.31/5"/.4;“(&)’

(a)|sun &#|(b)|food J# () |wood u/}( (d)|coal L

(ii) The world uses as much energy in 1 second, as we can use in a car in:

~gES e u:;(ﬂf%@/{)wuﬂ@g;u:}:évg

(a)| 150 years JL150 |(b)| 156 years JL-156

(©)| 132 years JL132 |@)| 146 years J-146

- o
(iii) Light travels in: ‘Ld/'}" P

(a)| one direction o~ ofwg (b)| straigh line ‘J:J/ U(fig’

(¢)| all directions JeUST (l/" (d)| botha&c Uscala

(iv) Sound cannot travel in: U_C /u'“ et T

(a)[Space 1](b)[Vacuum r):g} (¢)[Closed rooms / £z|(d)|Water dg

(v) The coldness or hotness of an object is called: ‘gl‘,‘laLgJ;(Ln(/@WLf)(f/

(a)|heat =7 |(b)|temperature ﬁ'/:,/ (c)[pressure /"I./? (d)|botha&b Usbslal
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(vi) Act of pushing or pulling a body is called:

(a)|Force u’u’ (b)|Power /5& (¢)|[Momentum ,;"/;” (d)| Torque Sk

(vii) The fountain water fall on the ground due to: e L/’ZU@LG&L»M

(a)|momentum (b%'// (b)|force u’n’ (c)|[movement =tz (d)|gravity Cf. gf

(viii)The tyres of car burst due to: e 3: &wﬁﬁjg

(a)|mass JL[(b)|gravity (3; j (c) [friction u;; (d)|power sl

(ix) We cannot walk on earth without: _édeu.?ﬁf’ﬁ /J" Jr"

(a)|force u’»’ (b)|mass JL{(c)|torque ot (d)|friction f;

(a)|lever 8 (b)|pulley & (c)|gear /".:'/ (d)[inclined plane JL A
Q.No.2. Write short answers. (6x2=12) -u‘"g iy U!/‘:?

(i) How do we sense the buzzing of mosquito? ? C,;d/u“' K_/LA/’J/’{
(ii) Into which two forms, the elecrical energy is transformed in a television?
S r wt Sl G ISR L und
(iii) When can we see rainbow? How is it formed? "‘4@45"‘437/’{/0:‘76;1/ 3
v S e QTR
(v) What is meant by gravity? On which objects its acts?
9448/()"2?!@“9;’/@;@.& S
(vi)Why are different bodies sometime found in a state of rest and motion?
St b lud A oSl B PrLaiil®

Q.No.3 The patient is sitting in a wheelchair. Which machine will be helpful
to take him on stage and why? A3

?U).)./J51Jn-:«; & 6;50%}VUU[{L£L@L{§¢.L(LM%{}§J“ 5&/

(iv) Why cannot we walk easily on ice?




